PAPER-III
PHILOSOPHY

Signature and Name of Invigilator
1. (Signature)

(Name)
2. (Signature)
(Name)

J [URY 1

Time : 2 '/, hours]

4

OMR Sheet No. :

Roll No.

Roll No.

(To be filled by the Candidate)

(In figures as per admission c&rQ

' .
- |

(In words)

Number of Pages in this Booklet : 16

“ [
[Ma?'.mum Marks 5_150

Number of Questiong'in this Bookl& :75

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of seventy five multiple-choice type of
questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept

abooklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions

in the booklet with the information printed on the

cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial orde

other discrepancy should be got replaced imme:

by a correct booklet from the invigilator :?1 atﬁ

(i)

period of 5 minutes. Afterwards, nelthe estion
Booklet will be replaced nor any em‘ra time, will be
given.

(iii) After this verification is over, the OMR Sheet Number

uﬁarrféra’r%%tr
ww%wﬁaa.wwm %?Iﬂﬁ?f?@q |

fequt ¢
b I W T WE WYE-gRasT o o |
T et diw AT R S | SEe S T
ar YA-ORAHT aT ot SR AR T @ st
W e s o

(iii) 38 T % o1 OMR W% i HH & 70 U-GReeh!
W 3fhd T |

should be entered on this Test Booklet. & ™ ¥ ??;Tj;}%m T T:E\T(‘?’v% éB,)qéﬁ?g%TT(%ﬁg

4. Eachitem has four alternative respo'hsehmarked (A), (B), (O) G f A e
and (D). You have to darken tﬁbcmgle s indicated below on
the correct response agalnst eaf iten®™ @ . . ®
Example : [ ‘ 4 EE] éﬁ(C) WS E |
where (C) is the correctjresponse. 5. W%WWWW%W%}‘T& OMR 6 u¥

5. Your responses to the itéms are to be indicated in the OMR & aifepa e & | AT 3T OMR T W[5 T g STATe
Sheet given inside the Booklet only. If you mark at any Eall W I 9T 3T €, T 3T qediw

_place other than in the icle in the OMR Sheet, it will not be TR
cyaluated. 6. I A TI?} st W‘ﬁﬁh‘ g |

6. jRead instructions given iflgide efully. 7. = %M (Rough Work 12:@3 gﬁrﬁq é; =T I W HL |

7. FRough Work is to be donglin thg end of this booklet. 8. IfT 319 OMR UFF UT T & 3{ATel STOT M, el

8. IIf you write your Name, Rbll Number, Phone Number or put TR, R TR AT S W uEr faeT fag—g* YT Y29 &
any mark on any part of the OMR Sheet, except for the space TF, GTFEEH A T ST STE AIOT HT VAN A §, AT B
g(llleitpd for the lr)ele.vanlt. ntries, whichlmay disclllose y;)qr = WA BT VAT B &, S 5 stk ,ﬁh‘& ™
1dentity, or use abusive language or employ any other unfair e ST
means'Such as change @f response by scratching or using Wﬁ Eb—\rﬁﬁ ﬁ;&m Tﬁw? a e % for
whitgfluid, you will render yourself liable to disqualification. St '

9. You have to return theftest question booklet and Original | 9- IR T W EH R G- Hel OMR &0
OMRI Sheet to the invigilators at the end of the examination Tlierh HeIsa i TlierT STeRa® & 3K Wil T & A
compulserily.and must not carry it with you outside the 3T AU T W 9aT F el 7 o ST | Skl
Examination Hall. You are, however, allowed to carry original T I W qoT W‘gﬁiﬂ T OMR T i Tg"?ﬁao_{
questioft* klet and duplicate copy of OMR Sheet on Ui 310 AT o ST Wehdl © |
conclusion©f examination. 10. Haer HA/HE Tl GRS U7 BT & QA B |

10. Use only Blue/Black Ball point pen. 11. fdt ot UHI BT GIT0TH IqT AT o9 3"'&-

11. Use of any calculator or log table etc., is prohibited. T At

12. There is no negative marks for incorrect answers. 12, TSN F mﬁ?m AHTAE |

13. In case of any discrepancy in the English and Hindi versions, 13, @ st A foaror ® g faga @, ﬁ:T ST AT
English version will be taken as final. i W ST |

J-03-14 H

|11 I

P.T.O.

www.examrace.com



1.  Who propounds organic relation
between man and society ?
(A) Hegel (B) Auristotle
(C) Mill (D) Bentham
2.  Who says that ‘Act as a member of
Kingdom of ends’ ?
(A) Auristotle (B) Spinoza
(©) Mill (D) Kant
3. It is better to be a human being
dissatisfied than to be a pig satisfied,
it is better to be a Socrates
dissatisfied than to be a fool
satisfied,’ is a statement of
(A) Kant (B) Hume
(©) Mill (D) Bentham
4. Who among the following
Philosophers has propounded the
concept of ‘Pure Being’ ?
(A) Pythagoras (B) Democritus
(C) Heraclitus (D) Parmenides
5. Which one of the following theories
of error is maintained by Ramanuja ?
(A) Satkhyati '
(B) Asatkhyati
(C) Atmakhyati
(D) Anirvachniya khyati
6.  Which one of the following is known
as moderate Bauddha (Pracchanna
Bauddha) ?
(A) Mahavira (B) Samkhya
(C) Shankara (D) Carvaka
7. ‘Jin’ is associated with
(A) Buddhism (B) Jainism
(C) Sikhism (D) Islam
8.  Prajiya, Sila and Samadhi are the key
concepts of
(A) Hinduism
(B) Jainism
(C) Buddhism
(D) None of the above
9.  Who introduced internal sanction in
morality ?
(A) Bentham B) Mill
(C) Sidgwick (D) Hume
Paper-I11
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Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

10.

11.

12.

13.

A Hypothesis s

valuable if it is

(A) opposed to established
scientific law

(B) opposed to religious belief

(C) in agreement with a religious
belief

(D) verifiable

What is meant by ‘Pancalabdhi’ ?

(A) Uplabdhi, Mahalabdhi,
Karanalabdhi, Mocanalabdhi,
Anuplabdhi

(B) Kshyops$amlabdhi,
Visuddhilabdhi, Desanalabdhi,
Prayogyalabdhi, Karanalabdhi

(C) Labhalabdhi, Desanalabdhi,
Krpalabdhi, Samvaralabdhi,
Nirjaralabdhi

(D) None of these

scientifically

Mark the correct symbolization for
given statement :

Statement :

If anything is damaged, someone will
be blamed.

Symbolization :

(A)  (3x) Dx> (Jy) (Py - By)

(B) (dx) Dx > (Py - By)

(C) (dx) —-Dx>-(dy) (Py - By)
(D) None of these

Match List — I with List — II and
mark the correct option :

List -1 List - II
a. —(pvq) =(—p-—q)i. Distribution
b. [p-(qvr]= ii. Double
[(Pp-q) Vv (p-D)] Negation

C. p=—-p 1i1. Exportation
d. [(p-q>r]= iv. De Morgan’s
[po(@>r)] theorem
Codes :
a b c d
(A) iv i i il

B) i i i v
©) i iv i il
(D) iv il i i
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1.

J-

T

Toas — 1
AC: T U § UEENR (75) Tg-Taedid U & | Ui U9 b &F (2) 3 & | Wt uee Aag € |

LS

T TS A o T 3Tl 9y &
UTqITE i HLaT & ?
(A) B (B) 3RE
(C) et (D) =W
AT & AT % WS & T H B
FY — g I UTqUTEd HaT & 2
(A) W& (B) T
(C) e (D) v
TH T TIA T A T o
T GIR H U, TH IFEE
TR BT e 8, U G g9
3T — TE H &
(A) HZH (B) ®FHH
(C) T = (D) o= FH
FFE T B STEUROT HT AR
ﬁm%@amﬁﬁa%ﬁ@%mﬁﬁm%?
(A) UTEITIRE (B) femifshed
(C) WEeze® (D) UEAREeN
THe Ueiifa o fawg & TS 6 e
AT T PT A TH AT E ?
(A) & =Afd
(B) 3T9q @&Aa
(C) o =&a
(D) e =
fefefaa & & 68 ‘a1 dig @l
ST Y ?
(A) WEER (B) =T
(C) v (D) =EH
(A) digeR ¥ (B) SHedd
(C) ey d (D) WA A
IR, et SR qHIY J&T STTIROM &
(A) g e (B) T &H
(C) dig el (D) T HE &
AfaeRdT | SR 3TST T i SR
FATE ?
(A) a=H (B) et
(C) Tastas (D) =

03-14

10.

11.

( 2

13.

g ol UTeRheaT ST & § Hewgol
LERACERCES

(A) Tfud St & faeg 8t |
(B) uithen foeamd & foeg &1 |

(C) wTeh favamd ¥ Smia T@T &l |

(D) T & |

“Tererfe T 37 T E 2

HeRTet sy,
(D) Sude | W HIE TRl

ﬁEW W%Wﬁ PRIEA =D
TG B IIT H

arfreper

T F T AT ¢, A Be-A-HE IO
TR SO |

Ul &1 ;

(A) (3x) Dx> (Jy) (Py - By)

(B) (3x) Dx> (Py - By)

(©) (@x)-Dx>- (Hy) (Py - By)

(D) ST H H PR
T — [ 1 gl — 11 9 GRlora e ae A
ST 7T forshedt o & e ol fafed &
e -1 = - 11
a —(pvq)=(-p-—qi. feegeH
b. [p-(qvn]= ii. SFA-TEE
[(p-q) v (p-1)]
c. p=—-p iii. TFIUIEIH
d. [(p-q>r1]= iv. € A6 oY
[p>(@>1)]
a b c d
(A iv i i il
B) i il i v
(C) i v i iid
D) iv i i i
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14.

15.

16.

17.

18.

19.

Evaluate the given argument and
mark the correct option :

Argument :

Vo-W)-(X2Y)
W>2Z2)-(YD-A)
(Zo>-B)-(-A>0)

V-X
. -B-C
Options :
(A) Valid (B) Invalid

(C) Bothofthese (D) None of these

Which one of the following correctly

represents the status of soul

according to Ramanuja ?

(A) There is unqualified identity
between soul and God.

(B) God and soul are two separate
entities.

(C) Soul is same as the body.

(D) The relation between soul and
God is that of parts and whole.

Which one of the following is true of

Buddhism ?

(A) Nirvana can be achieved only
in this life.

(B) Nirvana can be achieved only
in the life after death.

(C) Nirvana can be achieved both

in this life and life after death. | &

(D) Nirvana can be achieved by the
grace of the Tathagat.

Who takes into Consideration the
length and breadth in Ethics ?

(A) Mill (B) Spinoza
(C) Spencer (D) Moore

What type of Satta is ascribable to

Brahman ?

(A) Vyavaharika

(B) Paramarthika

(C) Both Vyavaharika &
Paramarthika

(D) Pratibhasika

In which Ashrama Vyavastha, a
person leaves for the jungle in order
to pray to God and practice Yoga ?
(A) Brahmacharya

(B) Garhastha

(C) Vanaprastha

(D) Sanyasa

Paper-I11

20.

21.

22.

23.

The two sentences labelled as

Assertion (A) and Reason (R) are

given below. Mark the correct code

according to these :

Assertion (A) : According to
Mimamsa Vedas are eternal.

Reason (R) : According to
Mimamsa words are eternal.

Codes :

(A) Both (A) and (R) are true and
R) provides correct
explanation to (A).

(B) Both (A) and (R) are true, but
(R) does not provide correct
explanation to (A).

(C) (A) is true, (R) is false and (R)
does not provide correct
explanation to (A).

(D) (A) is false, (R) is true and (R)
provides correct explanation to
(A).

Match List — I with List — II and

mark the correct option :

List - II

1. Varna

1. Musavada

iii. Moks$a

iv. Karuna

a b c d

(A) i i i iv

B) i v i i

©) v i i il

D) 1 i v

Consider the following statements in

the context of Bentham and mark the

correct code :

1.  Greatest happiness of the
greatest number.

2. Nature has placed mankind under
the governance of two sovereign
masters pain and pleasure.

3. Community is a fictitious body
composed of the individual
persons.

Codes :

(A) 1 and 2 are true.

(B) 1 and 3 are true.

(C) only 1is true.

(D) 1,2 and 3 are true.

‘Enlightened Anarchy’ means

(A) Lawlessness

(B) Non-existence of the state

(C) Lawlessness of the intellectuals
(D) Imperialism
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14. < T o B W H g [T T
foeheal § 9 TET T 9
e
(Vo -W)-(XDY)
W>2Z2)-(YD-A)
(Z>-B)- (-A>C)
V-X
. -B-C
'FGIW'JI':
(A) oY
(B) 310y .
©) SHFIA
(D) SUIH H I HIE T

15. TS % @R f=fefad & 9 & 4
T 3TTCHT o Wel Tt Fead e & 2
(A) 37T 3R YR | ST 3T9% & |
(B) ¥ AR 1T = T E |
(C) 3TTeAT 3T YRR A= ¢ |
(D) ST 3R IWeR I Hay fegd

Te {ITe AT E |

16. fr=fafEd § ¥ F 91 T sigad & a1
THEE?
(A) 9 St o & faror v foear s
HHATE |

(B) T Sfaa § Fator o fer <

ST HHATE |
(C) 9 SeM 3R germid Sfae HT
o &7 T fohar ST Hehell & |
(D) TAFT I FTHE G A ure
foran ST G & |

17. of=TE TS €IS & {Gun o Afderet §
T SR HIAT € 2

(A) Toet (B) farm

(C) W D) T
18. T fohd UhR i T & 2

(A) =AEEIN®

(B) URHIS

19. W) ¥ WA X I FE & o

TR {3 =AaeT | o H ST § 2

(A) e (B) e

(C) =T (D) w=E
J-03-14

20. 9 I O wEE (A) 99 9% (R) &
w7 | fgume € |wwﬁqwﬁ
T Tl o T B
FHAT (A) : WA Hawé?{ﬁm%|
& (R) : G AAAR 9 (e € |
ET%

(A) (A) T (R) T ¥ & 71 (R),
(A) BT TR |

(B) (A) @ (R) 3! ¥ &, b
(R), (A) =l TE =am= &1 € |

(©) (A) I E, (R) 37 & T (R),
(A) F W AR U T
hIdl |

(D) (A) 3ITA T, (R) I € 7 (R),
(A) T TEl AT W& HAT T |

21. gt — 1 gt — 11 & 91 gaferd o
aﬁ?ﬂﬁ%mwmﬁ
S St -1

/t%‘% m

(A) i no i iv
B) i v i i
<G iv i 1 il
D) 1 i v

22. S % HeW @, fr=fatad weA W

oA FY 31K e IS T A

1. 3fyehan safaal & gy g9

2. UHA A AHEGHEA I FAIGAS
@A & e 9 @M € — ogT
A IG=TaT

3.  WHSE SAfokeh Sl S Shicud
e T |

e

(A) 13R27=E |

(B) 13dAR3FFE |

(C) ot 1 §I ¢ |

D) 1,233 TIE |

23, “Ueg RISTHAT H A T
(A) TaET
(B) T i A=
(C) FIGHM I St SRS
(D) WA
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24.

The view that ‘JatT’ is as much real as
the Vyakti is held by

(A) The Nyaya school

(B) The Bauddha school

(C) The Carvaka school

(D) The Advaita Vedanta school

25. Which one of the following
statements does not truly reflect
Gandhi’s Philosophy of life ?

(A) Hate the sin but not the sinner.

(B) Non-violence is an active
moral fight against wickedness.

(C) Both of the options given
above are true.

(D) Neither (A) is true nor (B).

26. According to Gandhiji, the goal of
constructive programme is
(A) Providing economic relief to

the unemployed
(B) Distributing some wages to
spinners and weavers
(C) Creating a non-violent society
(D) None of the above
27. Sarvadharma Samabhava : according
to Gandhi means .
(A) There is the unity of all' &
religions

(B) All religions are to be treated
equally

(C) All religions should be
synthesised

(D) All religions teach moral
values.

28. Right faith, right knowledge and
right conduct are known as
in Jaina ethics that shine is a good
life.

(A) Triratna (B) Triguna
(C) Trijiiana (D) None of these

29. According to Gandhi, trusteeship
means
(A) Bread-Labour
(B) Swadeshi
(C) Possessing wealth and its

distribution to the needy
(D) Greediness
Paper-I11

30.

31.

32.

33.

34.

35.

Arrange the following concepts in

which they appeared. Use the code

given below :

L. Pratitya Samutpada

II.  Nirvana

III.  First Noble Trust

IV. Eight fold path (Dukh Nirodh
Marg)

Codes :

A LILIULIvVv @B IV, IOLILI

©) HULLILIv (DO ILULLIV

The philosophy of Satyagraha is
originally ascribed to

(A) Ruskin

(B) Mahatma Gandhi

(C) Dr. B.R. Ambedkar

(D) Koutilya

The word Ahinsa was first used in
the following Indian text :

(A) Bhagavad Gita

(B) Chandogya Upanishad

(C) Ramayana

(D) Rigveda

Religion according to Gandhi is :
(A) Justice

(B) Prayer

(C) Moral Principle

(D) Freedom

“We do not want mass production
but we want production for the
masses’” advocated by

(A) Marx (B) Gandhi

(C) Nehru (D) Amartya Sen

Match List — I and List — II and select
the code correctly matched :

List -1 List — 11
a. Advait Vedanta 1. Nimbark
b. Vishista dvaitvada ii. Shankar
c. Dvaitvada iii. Ramanuja
d. Dvaitadvaitvada iv. Madhva
Codes :

a b c d

(A) i il i iv

B) i i iv i
© v 1 a1
D 1 i il v
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24.

25.

26.

27.

28.

29.

7 foam fop i Sa-t an&ateres & St
& =t TR & 2

(A) = TOEE

(B) g guR™

(C) = dT® qWRE

(D) 35d I THRE

fraffad & ¥ &9 @ wuT e &

STIeH-59T ST Tt 0T TR el <Rl 2

(A) U9 Y gOT A, T F R |

(B) 3eqr 5ot & ooy Afde Fav ¥ |

(C) W & AT faeheT T&r & |

(D) ST T fashed (A) R (B)
TR E |

ST % SR WA HIAHA

T

(A) SISTHIR] i 7P TETIaT TS BT

(B) A oot 3T A HA ATl hl
P AT fadid e

(C) &A@t TS 1 o

(D) SUgH § F HIE Tl

TS & STTAR Faed qHTe T 37 &

(A) T gAT H UHaT | &

(B) T €\l % A HAN IR BT
|
(C) Tt gt H HyAwUr fHAr ST
MW |
(D) &t ¥ Afqe gog fa@m ¥ |

THET ST & ST 372 SHie § IHehdT &
(A) PR

(B) BT

(C) F=m=

(D) SwIF H H I Tl

ST o STER, =AEar 1 37 §

(A) U & Tow 5|

(B) @Rl

(C) TR TET 3R STEaHs U STH!

(D) ©re=

J-03-14

30.

31.

32.

33.

34.

35.

I I ™ FT H TS A Y,
Fefatad fagidr = S9% W&l w9
T‘I’H’I’{&:

I Udc SR

II. e

M. w9 e 9

IV. 3mifTes 9r (3@ =g |m)
he:

(A) LILILIV (B)
(©) ML LILIV

IV, 1IL 11, I
(D) ILIOLLIV

T % IO H 99 gl ®9 4§ T
fear s g 2

(A) A

(B) T it

(C) T 913K, raEaT

(D) e

AT I T STAT FHemeH FEfarad
RS T o T T e

(A) WERTMaT  (B) SRrEMHEE
(C) Mm@ (D) =ox
ST o STER &Y

(A) =FE | (B) WTE |

(C) Afwrfagiae | (D) Ta=ar g |

T SAYH IR Tel ed §, W] &9
ST % T 3caTe 9Rd € 39 O @
fermad fre &l & 2

(A) T (B) Tl
(C) &F (D) o™ T
Tt — [ vd gat — [ ) foeR it ud
TEt AT e BT =TT Y
= -1 = - 11
a. AR i TR
b. faferergdars ii. ¥
c. FAaR iii. AT
d. gEqas iv. O
YA

(A) il il i iv
B) i i ivd
©) iv i i i
D) i i i v
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36.

37.

38.

39.

Which of the following statements are
associated with Gandhiji’s concept of
truth ?

1. Truth is an ontological category.
2. Truth is an ethical category.

3. Truthis only a property of statement.

Select the correct answer from the
codes given below :

Codes :
(A) 1,2and3 (B) land2
(C) 2and3 (D) land3

Given below are two statements, one
labelled as Assertion (A), and the other

labelled as Reason (R) :
Assertion (A) : The conclusion of a
syllogism cannot be more

general than the premises.
Reason (R) : The conclusion of a
syllogism is true, provided the
premises are true.
In the context of the above two
statements, which one of the following
is correct ?
Code :
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true, but
(R) 1is not the correct explanation

of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true. \

According to Kant — “The laws of
hygiene are conducive to health” is

(A) Categorical imperative

(B) Hypothetical imperative

(C) Moral imperative

(D) None of the above

Match the following by using the
code, given below

List - Ly List - 11
'(Trend) é (Philosopher)

a. Critical 445 Russell
Philosophy

b. Rationalism fii. Locke
¢. Empiricism [iii. Spinoza
d. Analytic { iv. Kant
[.J'Philosophy )

Codes :

a b c d
(A) iv odi il i
B) i1 v i ii
©) iv i i
D) i i iv il

Paper-I11

40.

41.

42.

43.

44.

45.

46.

47.

Samavayikarana of the world

according to the Vaisesikas is

(A) I$vara

(B) Paramanu-Samyoga

(C) Dvyanuka

(D) Paramanu

Parmarthika Satta may be refuted by

(A) Vyavaharika Satta

(B) Pratibhasika Satta

(C) Both (A) and (B)

(D) None of the above

Which one of the following pairs is

not correctly matched ?

(A) The doctrine of =& — Lefbnitz
Monads mr

(B) The Doctrine — Spinoza
Modes {1

(C) Burkley’s Philosop Solipsism

D D1st1 ion between © — Kant

— edge

concemmg relation of
}deas and" Knowledge

oncerning matter of
act’

The view that “God alone is real and

other finite things are suppressed or

annulled in the existence of God” is

called

(A) Theism (B) Pantheism

(C) Animism (D) Deism

Mark the option which is not correct

in the context of Hegel’s philosophy

(A) Idea of God # Highest universal

(B) Real is Rational.

(C) Pure Being = non being

(D) The Ultimate Reality can be
explained in forms of causality.

‘Who propounds that God is appearance ?
(A) Spinoza (B) Descartes
(C) Hume (D) Bradley
Who says that ‘Non-Contradiction is
the criterion of Reality’ ?

(A) Hegel (B) Plato

(C) Bradley (D) None of the above

Mark the group, that is the most suitable

to Nietzsche’s Philosophy’ ?

(A) Sense-data, Protocol Statement
Epoche, Tragedy

(B) Crisis, Superman, attack on
Christianity, Evolution

(C) Supermind, Tragedy, Epoche,

Speech act
(D)  Crisis, Tragedy, Protocol
statement, attack on Christianity
J-03-14
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o oo o

a b c d
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D) i i iv il
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40.

41.

42,

43.

44.

45.

46.

47.

SRRt 3 SRR, ST 1 FHEHT &
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YRS T 1 =erad & 51T @
fopam ST Fehel &

(A) AEEINS T

(B) wfciEes g

(©) (A) 3 (B) T

(D) Suge H ¥ HiE Tl
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C) A (D) et
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(A) zFEI-UET,
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48.

49.

50.

S1.

52,

53.

Mark the statement which is not true :

(A) Subjective idealism results in
Solipcism.

(B) Conceptualism is a theory given
to explain universal

(C) Causality is a ground of
Induction

(D) Kant ascribes space and time as

‘a-priori concepts
Who tells — “Knowledge is primarily of a
definite object and is to be distinguished
from the awareness of the indefinite.”
(A) Ambedkar
(B) Radhakrishnan
(C) K.C. Bhattacharya
(D) Tagore
Given below are two sets List — I and II.
List — I consists of the propounders and
List — II of the doctrines. Consider
them and select the correctly matched
code :

List-1 List — II
a. Sankara 1. }?rapatti
b. Ramanuja ii. Siinyata

c. Madhva . Jivanmukti
d. Nagarjuna iv. Anandataratamya
Codes :

a b c d
(A i i v
(B) il i iv i
<© i i i v
D) i i i v

&

Spinoza explained the relation between
mind and body by the help of

(A) Inter-actionism

(B) Parallelism

(C) Pre-established harmony

(D) Identity-in-difference

In Buddhist Philosophy Avinabhava
relation is based on

(A) Identity, Negation, Co-existence

(B) Identity, Causality, Negation

(C) Causality, Negation, Co-
existence

(D) Causality, Identity, Co-existence

In the following inference there is
fallacy of :

‘Sky flower is fragrant because it has
flowerness in it’
(A) Anekantika
(C) Badhita

(B) Satpratipaksa
(D) ASsayasiddha

Paper-I11 10

54.

5S.

56.

57.

Read the following arguments and
select the fallacy in it, using the code
given below :
Argument :

“All Hindus are Aryans.

No Persians are Hindus.
.. No Persians are Aryans”.
Codes :
(A) Fallacy of Illicit Major
(B) Fallacy of Illicit Minor
(C) Fallacy of Four Terms
(D) Fallacy of Undistributed Middle

In the context of laws of thought
mark the best combination of the
laws as given below :

Laws :

L Law of Identity

II. Law of Contradiction

III. Law of Excluded Middle

IV. Law of Sufficient Reason
Combinations :

(A) TandII are correct.

(B) III and IV are correct.

(C) I, IIand IV are correct.

(D) L II III and IV are correct.

Match List — I with List — II and
select the right answer using the
code, given below :

- | List - II
a(l,,;:A 1. Ferio
bl AIl ii. Celarent
c. EAE 1. Darii
d. EIO iv. Barbara
v. Baroco
Codes :

a b Cc d
(A i v iv i
B) i v i ii
© v i il i
D) v v 1 il
Which of the following statements
are true with regard to phenomenology ?
(A) Phenomenologist’s is  not
concerned with particular facts
as such.
The  subject  matter of
Phenomenology is the ideal
meanings and universal
relations with which the ego is
confronted in its experience.
Only (A) (as above said) is true
and (B) is false.
Both (A) and (B) (as above
said) are true.

(B)

©
D)
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S1.

52,

53.
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54.

5S.

57.
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58.

59.

60.

The objects of phenomenological
inquiry are

(A) External objects

(B) Intentional objects

(C) Extensional objects

(D) Ideal objects

Given below are two statements, one
labelled as Assertion (A), and Reason
R):

Assertion (A) : According to Quine,
the verificationist theory has
taken language in a very piece-
meal fashion.

Reason (R) : It therefore has
resulted in a sort of reductionism.

In the context of the above two

statements, which of the following is

correct ?

Code :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Match List — I with List — II and
select the correct answer code from
below :

List - I Li t ~1I
a. On the logi'cc‘;)f i. Gadamer
social sci

ences
b. Being an&n‘ ii. Habermas
~ time P
c. Philosophical§ iifyHeideggar
Hermeneutics
d. Hermeneutics
* ,and Criticism
Codes :
a b c d
(A i il i iv
B) iv il i i1
<O 1 i v il
D) i i v i

iv. Schleiermacher

Paper-I11
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61.

62.

63.

64.

65.

Match the List — I with List — II
choose correct answer from the code
given below :

List -1 List - 11
(Authors) (Books)

a. G.E. Moore 1. Foundations of
the metaphysics
of Morals

b. Kant ii. Right and the
good

c. F.H. Bradley iii. Principia Ethica

d. W.D. Ross iv. Ethicalsgadies
Codes : , ]
a b c d
(A) iv 1 i i
B) i i iv i

(O i iv il

D) 1 1 o1 v

When ‘A’ proposition is true, E and |
propositions are

(A) False and true

(B) True and false

(C) False and doubtful

(D) True and doubtful

Social rights which form a part of
Universal Declaration of Human
Rights (1948) address covers which
of the following aspects ?

(A) Education

(B) Food

(C) Employment

(D) All of the above

Which one of the following is not a
part of Universal Declaration of
Human Rights (1948) ?

(A) Security rights

(B) Liberty rights

(C) Equality rights

(D) Group rights

Which one of the following is NOT

correctly matched ?
(A) Use theory of meaning was

propounded by...... (Later
Wittgenstein)
(B) The theory of descriptions was
advocated by ....... (Russell)
(C) Speech-act theory was

introduced by ..... (Austin)

The wholistic approach to
meaning was advocated by
...... (Ayer)

D)
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62.

63.

64.
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©
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66.

67.

68.

69.

70.

71.

Two universal propositions differing
in quality are said to be in

(A) Contradictory opposition

(B) Sub-altern opposition

(C) Contrary opposition

(D) Sub-contrary opposition

Which position is held by the
Naiyayikas regarding the relation
between pada and padartha (_vrthi ) ?
(A) Sakti and Laksana

B) Qauni and Vyafijjana

(C) Sakti, Laksana and Vyanjana
(D) Vyaiijana, Gauni and Laksana

“Punishment is inflicted on a
criminal in order to reform or educate
him” is the view of following theory :

(A) Deterrent theory of punishment
(B) Retributive theory of punishment
(C) Reformative theory of punishment
(D) None of the above

Which one of the following theories
of meaning that Quine supports ?

(A) Atomistic theory of meaning
(B) Wholistic theory of meaning
(C) Positivist theory of meaning
(D) Reductionist theory of meaning

The kind of inference in which “there
is a change in the quality of the given
proposition, while its meaning
remains unchanged” is called

(A) Conversion

(B) Obversion

(C) Contraposition

(D) Inversion

According to Austin, the act of doing
something by saying something is
called

(A) Locutionary act

(B) Illocutionary act

(C) Perlocutionary act

(D) None of the above

72.

73.

74.

75.
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Match the List — I with List — IT and
select the correct answer using the
code given below :
List -1
(Thinker)
a. G. Frege 1.

List - II
(Books)
From a logical

point of view

b. B. Russell  ii. Philosophical
Analysis
c. L. iii. The Blue and
Wittgenstein Brown Books
d. W.V. Quine iv. My Phil@sophical
Developmenty |
v. . Féundationsfof
Arithmetic ™ g
Codes :

a b c d
(A) iv i il i
B) i v v i
<G v ooivoodi i
D) iv v i i
Only thing that can considered to be
good according to Kant to
(A) Categorical imperative
(B) Moral law
(C©) Goodwill
(D) Concept of God

Match List — I with List — II and
select the correct code :

List -1 List — 11
a. Simone de 1. Gendre trouble
Beauvoir
b. Judith ii. Sexual politics
Butler

c. Kate Millet iii. Second sex
d. Luce Irigary iv. An ethics of
sexual difference

Codes :

a b c d
(A i i il v
B) i i iv i
(©) i v i il
D) i1 1 i iv
Which one of the following
philosophers is associated with the
proposition : “I think therefore I am” ?
(A) Spinoza (B) Descartes
(C) Leibnitz (D) Hume
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68.

69.

70.
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(A) farsT (B) =M
(C) wRisT (D) =M
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